
A may send 1400 octets

A shrinks its transmit window with each
transmission

B is prepared to receive 1400 octets, 
beginning with 1001

B acknowledges 3 segments (600 octets), but is only
prepared to receive 200 additional octets beyond the
original budget (i.e., B will accept octets 1601
through 2600)

B acknowledges 5 segments (1000 octets) and
restores the original amount of credit

A adjusts its window with each credit

A exhausts its credit

A receives new credit 

SN = 1001
SN = 1201
SN = 1401

SN = 1601SN = 1801

SN = 2001
SN = 2201
SN = 2401

AN = 1601,W = 1000

AN = 2601,W = 1400

Transport Entity A Transport Entity B

Figure 15.1 Example of TCP Credit Allocation Mechanism

...1000 1001 2400 2401... ...1000 1001 2400 2401...

...2600 2601 4000 4001...

...2600 2601 4000 4001...

...1000 1001 1601 2401...

...1000 1001 2001 2401...

...1600 1601 2001 2601...

...1600 1601 2601...

...1600 1601 2001 2601...

...1600 1601 2600 2601...


